
He 1992 Date 

Exercise-9) 

LMultillp the alloeoing 

a 19 758 102-00 

176 

8 
LoL00 

IO 

O 00 

19 5 
1960 

C 1596 x 16 289 
L-96 

S 

76 30 
526 
998.9 O0 



945-75 75 25 E 23643-75 9 45 75 

1728 76 
18915 LAPE 

236 435 

e 596 10 x L6 8129.40 

X 16 
3 158 4O 

S96 0 
89 240 

S 6450: 50 x 15 96757-5 
6450:60 

39 25 250 
65050 
96757 50 



281256 12 x 
4231275704 

8 12 56 12 
42 

16251 2 2 

342 75 7.04 

h285132 05 xS3T 
15829262 75 

8 5L3 05 
X 

Y9566 O 25 
42566095 

Y6 81262 75 

i87152 10 75 653640 7 5 

8 715 10 

X 75 

43 5760 50 
GLO0670o 

6536407:50 



Date 
Pege Q5 

A o4S% 75x 95E 59239/95 
9045 6 75 

95 

Y5228 3 75 

8593391:5 

Oivide the delkoeuinq: 

a 96 9: 48 
b133+7- 0.19 

d 75. 226 4587 
e851-62 * 12: 2p.96 

7645 415: 169.69 
q 9046 7515a 5127 
1o456 39 8 P1307-04 
S%67:1S *Sa 2973.49 
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